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QUESTION 1

In order to set up weekly planning for a continuous 18 months, which three options would need to be selected when
initially configuring Financials? (Choose three.)

A. Rolling Forecast

B. Custom Periods

C. Weeks to months mapping
D. Plan Element dimension
E. Weekly Planning

Correct Answer: ADE

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-cloud/epbca/
common_enabling_weekly planning_100xde280ce5.html

QUESTION 2

Which three describe what you can do with Valid Intersections? (Choose three.)

A. specify that certain programs are valid only for some periods or departments.

B. restrict cells containing invalid data, setting them to a read-only state within forms.

C. filter cell intersections to users when they enter data or select runtime prompts

D. prevent the user from executing any type of Calculation Manager rule that uses runtime prompts
E. allow all users to select from a non-filtered list of members on the form\\'s point of view

Correct Answer: ACE

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-cloud/pfusa/val_comb.html

QUESTION 3

Which three are predefined Workforce business rules? (Choose three.)
A. Transfer

B. Plan Departure

C. Promote Employee

D. Change Job

E. Remove Existing Employee
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Correct Answer: ACD

QUESTION 4

Which REST API method would be used to execute a job in Planning? (Choose the best answer.)
A. POST

B. EXECUTE

C. GET

D. PUT

Correct Answer: B

Reference: https://docs.oracle.com/en/cloud/saas/enterprise-performance-management-common/prest/
cloud_plan_budget_rest_api_client.html

QUESTION 5

Which three security design principles can help reduce overall security maintenance and troubleshooting, while still
balancing security control? (Choose three.)

A. Creating groups over assigning individual access permissions to users

B. Configuring single sign-on (SSO)

C. Assigning a higher level role than necessary, then scaling back access permissions

D. Using inherited permissions

E. Assigning global read access to each cube, then fine-tuning none and write access within dimensional security

Correct Answer: ACD
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